

$$a = 4, \quad a + 3d = 91, \quad d = 7$$

$$a + 7d = 201, \quad 4 + 7 \times 7 = 201, \quad 7 \times 7 = 148, \quad 201 - 148 = 53$$

$$a_{20} = 201$$

۱

(سری ۹۹۹ تا ۱۰۰۰)

$$7n + 3 \rightarrow 100, 7n + 3, 999$$

$$97 < 7n < 999 \rightarrow 13, \dots, 142, \dots$$

$$n = 14, 15, 16, \dots, 142, 143$$

$$\rightarrow [14, 142] \rightarrow 129$$

۱۲۹ عدد

۲

3 جمله

$$a_{n+1} + a_{n+2} + a_{n+3} = -2n + 12 \Rightarrow a_{n+2} = \frac{a_{n+1} + a_{n+3}}{2}$$

$$2a_{n+2} = -2n + 12 \Rightarrow a_{n+2} = -n + 6 \Rightarrow n+2 = n \Rightarrow n = n-2 \text{ ☹}$$

$$a_{(n-2)+2} = -2(n-2) + 12 \Rightarrow a_n = -2n + 16$$

$$a_{17} = -2(17) + 16 = -34 + 16 = -18$$

۳

$$r^{n+1} = \frac{r^n - 1 + r^{2n}}{r} \Rightarrow r \cdot r^{n+1} = r^n + r^{2n} - 1$$

$$r^{2n} = r \cdot r^n + r^n - 1 \Rightarrow r^{2n} - r \cdot r^n - r^n = -1$$

$$F^2 - 3F - 1 = 0 \xrightarrow{\text{ریشه}} F = 4, F = -1 \rightarrow r^n = 4 \rightarrow n = 26$$

چنانچه بماند ۲۴

۴

$$a + 11d - a - 9d = 5 \rightarrow 2d = 5, \quad d = 2, 5$$

$$a + 11d + a + 9d = 25 \rightarrow 2a + 20d = 25$$

$$2a + 20(2, 5) = 25 \quad 2a = -25 \quad a = -12, 5$$

$$a_{21} = a + 20d \rightarrow -12, 5 + 20(2, 5) = 37, 5$$

۳۷, ۵

۵

$$a_1 + a_2 + \dots + a_n + a_0 \Rightarrow \frac{\omega}{r} (ra + rd)$$

$$\frac{1}{r} (a_1 + a_2 + \dots + a_n)$$

$$\frac{\omega}{r} (ra + rd) = \frac{1}{r} \times \frac{\omega}{r} (ra + rd)$$

$$ra + rd = \frac{r}{r} a + \frac{r}{r} d \Rightarrow a + d \quad \frac{a_r}{a_1} = \frac{a_1 + d}{a_2} = \frac{r}{r} = 1$$

$$t_n = t_{n-1} + 10 \Rightarrow t_n - t_{n-1} = 10 \rightarrow n \times 10 \text{ dsol}$$

$$t_9 = n \times 9 \Rightarrow t_9 + 10$$

$$t_0 \rightarrow n \times 0 \rightarrow t_1 + 10$$

$$\frac{t_9 - t_0}{t_v} = \frac{(t_9 + t_0)(t_9 - t_0)}{t_v}$$

$$\Rightarrow \frac{(t_9 + 10 - t_0 - 10)(t_9 + 10 + t_0 + 10)}{t_v} \rightarrow \frac{9d + 10 + r_1 + 10}{r_0(10 + r_1) + t_v} \rightarrow \frac{r_0 t_1 + 10}{r_0 t_1 + 10}$$

$$d = \frac{b-a}{n+1}$$

$$a = r + \sqrt{r}$$

$$\frac{r + \sqrt{r} - r(1 - \sqrt{r})}{1^{r+1}} = r + \sqrt{r} - r + r\sqrt{r}$$

$$\frac{1^{r+1}}{1^r} = \sqrt{r}$$

$$d = \sqrt{r}$$

$$d = \frac{r_1 - r}{r_{n-1}} = \omega = \frac{10}{r_{n-1}} \quad \text{Soln} = \{n-1 + r, \dots, n-1\}$$

$$a_{x+1} = r + xd = 11 \rightarrow r + \frac{10x}{r_{x-1}} = 11 \rightarrow \frac{10x}{r_{x-1}} = 9$$

$$10x = 11x - 9 \quad x = 9 \quad \underline{n = 10}$$

$$a_n + a_{n+r} = a_r + a_{14}$$

$$(a + (n-1)d) + (a + (n+r)d) = (a + rd) + (a + 14d)$$

$$ra + d(rn + 1) = 14d + ra \rightarrow rn = 14 \quad n = 14$$

$$\frac{a_n}{a_{\frac{n}{r}}} = r \quad a_{x=0} = a_{\frac{x}{r}}?$$

1.

$$* a_n, r_{a_n} \rightarrow a + rd = r(a + rd) \rightarrow rd + ra = a - d \quad \underline{a = d}$$

$$a_{x=0} \rightarrow a + (x-1)d = 0 \rightarrow -d + (x-1)d = 0 \rightarrow (x-1)d = 0 \rightarrow \underline{x = 1}$$